1 Kh'
) ich scheme is initiated b
. y State Governm : . .
the districts? ent of Himachal Pradesh to connect secretariat with

(A) Sugam
(B) Swan
(C) Himswan

(D) Jan Seva Kendra.

femree WM # T TR 3w ®@ e @ St @ fag Be-d e e w8
(A) g™

(B) &|R

©), feveamm

(D) S ¥ R

2.” Which among the following is not a place of archaeological discoveries in Himachal Pradesh?
(A) Nalagarh
(B) Dharampur
(C) Suketi
(D) Kalpa.
frofafas 9 @ BF-1 feTee B9 § [alkes @Sl F1 o TwWoe?-
(a), T .
(B) 9
© FEd

(D), FI

3.  Which of these lakes of Himachal Pradesh is shaped like a sleeping woman?

(A) Nako Lake
(B) Suraj Tal

(C). Renuka Lake
(D) Mantilai Lake.

9024/RRR /6 3 [P.T.0.
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frree W W W R fhw e W SR o g S B SR w2
(A) T gie

(B) o™

©) T dw

(D) wieemd wie

During the rule of which dynasty, Huns invaded Himachal?
(A) Mauryas

(B) Guptas

(C) Kushanas

(D) Rajputs.

w90 @ weEw ¥ o 3 feame W sTERw R
(A). ¥

(B) T=

€) v

(D) Tl

In which district is Shirgul Devta worship famous?
(A) Sirmaur

(B) Solan
(C) Bharmaur
(D) Kaza.

R 2o 1t o o foret & wieg &
(A). fawiR
(B) Hrem
(©) R

(D) 1=



. /Which is the only newspaper in Himachal Pradesh that has separate district pullouts?
(A) Divya Himachal

(B) Veer Arjun
(C) Kshtriya Tej
(D) Him Rakshak.

et WY 1 T Y WX A ¢ e sem-aem o w0 fa #2
(A) f= feamaa

(B) W A

(C), & A

(D) f&em |

71 A original inhabitants of Himachal Pradesh belonged to which group of people?
(A) Kolarian people
(B) People of Indus Valley Civilisation

(C) Khashas people or Kshatriyas
(D) Mavanas.

frae W @ W@ P fR T @ W
(A) HienfEa @
B) fay =&t owm % @
(C)e @H @M A &Y
(D) #arl
8.  Which of the following peaks is not located in Lahaul and Spiti disrict?
(A) Sangri La
(B) Mulkila
(C) Jorkaden
(D) Lady of Keylong.

9024 /RRR /6 S



frofofan 2 @ st WA smie sh witfy et o foom i &)

(A) |imlt =n
(B) yerfwen
(C), wwhis
(D) @8t e wrahm

Under which scheme the Himachal Government. deposits money 1n bank/post-office ACCOURY,

for poor children®
(A) Intergrated Child Development Services

(B) Mukhya Mantn Bal Uddhar Yojana
(C) Integrated Child Protection Scheme

(DY _Bal/Balika Suraksha Yajana
Nmm*qmm e ¥ ¥wamw wm § dmowm s )

(A) TotFer ww feew dan
(B) Yoot wrm TR wrwm
(C) TwTFr oo wowe oy
(D) wreanfere g wreen

10. Who led the Quit India Movement, 1942 in Shimla?
(A) Y.S. Parmar
(B) Shiva Nand Ramaul
(C) Amnit Kaur

ﬂmﬁmzﬁmﬁt_‘rmmmmﬁmm
(A) TTE. vom 3
(B) i ¥z i 3

(C). sawh 3
(D) AT 7

|l /RRR /&



1. Who wat known a1 ‘Pahadi Gandhi' (title was given by PL JL. Nehru) hailing from Kangra ?

(A) Shiva Nand Ramaul
(B) P Padam Dev

(C) Baba Kanshi Ram
(D) Abdul Ghaffar Khan.

m%ﬁﬁﬂﬁ'm'ﬂ‘ﬁ'(ﬁ.iW.#nmﬂﬂ!m:)tmﬂﬂsﬂmmm?
(A) frm oz miha =)

(B) 9w A W
(C), Fra =i T )

(D) 3= TERR W W

12. "Mohana® is a famous folk song of
(A) Kangra
(B) Shimla
(C) Mandi
(D) Bilaspur.

e vz i T ¢
(A), TITET

(B) femen =

(C) W&l @1

(D), fasmaq =1

13. At which of the following places Rabindra Nath Tagore spent few months in Himachal Prades
(A) Rampur

(B) Una
(C) Nalagarh
(D) Dalhousie.

9024 /RRR /6 7 \F



Profofas ¥ A fr wm T i ik 3 froee e A 18 7R g o)

(A) THY
(B) &

(C) e

(D) . Teres)

14.” Where has the rare red necked grave been found in Himachal Pradesh?
(A) Pong Lake
(B) Yunam-So Lake
(C) Saketi Lake
(D) Suraj Tal.

frorem W ¥ g W T At ww oww R E
(A) 9 =

(B) o= | @@

(C) Sdt #=

(D) §= 7=

15. Vashisht hot water springs are located on the banks of which river?
(A) Ravi
(B) Beas
(C) Satluj
(D) Yamuna.
e ™ ot F v few T @ @ W feum #2
(A) Tt
(B) =™
(C) wags
(D) Fg

9024 /RRR/6



16. /Wlm was the Guru of Kabir?

17.

18.

(A) Ramanuja
(B) Ramananda
(C) Vallabhacharya
(D) Namadeva.

et B 6 BA A?
(A) TS

(B) THMZ

(C) FeavraTd

(D) ATRA|

Which is.the national aquatic animal of India?
(A) Sharks

(B) Golders fish

(C) Ganges River dolphin

(D) Rohu.

A H1 TG g S| HE-91 22

(A) T

(B) el waw

(C) M T Siew

(D) gl

D.D.T. was invented by
(A) Mosley

(B) Rudolf

(C) Karl Benz

(D) Dalton.-

9024 /RAR / 6 9



m\a.mmmﬁwwm
(A), TR BT

(B) ®ETH BN

(C) ®Te ¥ g

(D) IRA FWI

19. The hottest planet in the solar system is
(A) Mercury
(B) Venus
(C) Mars
(D) Jupiter.
R wew w1 TR ™ o @
(A) g9
(B) =
(€) =&

(D) gE=fal

20. Entomology is the science that studies

(A) The origin and history of technical and scientific terms
(B) Behaviour of human beings
(C) Insects

(D) The formation of rocks.
12 fagm ag faam & s sreggq = 2

(A) TFH1 R Fofrw ol #7 safa sk shem
(B) WA H1 HaER

©), 18

(D) =Z2Hl &1 famfon

\024/RRR /6 1N



Shivamogga Airport was recently inaugurated in which state/UT?
21,
(A) New Delhi

(B) Karnataka
(C) Odisha
(D) West Bengal.

Wmmmmmﬂﬁﬁrﬂm@?mmﬁﬁmwm?
(A), T feeeht

(B) FAREH

(C) nfem

(D) 9= 9=

hat is the rank of India in the International Intellectual Property Index, 2023?
(A) 26

(B) 32
(C) 42
(D) 55.

m@ﬂaﬁmmm.zmﬁwm&mﬁ?
(A) 26
(B) 32
©) 42
(D)e 55.

23./

Which Union Ministry issued advisory on Obligation of Public Service Broadcasting
(A) Ministry of Information and Broadcasting
(B) Ministry of Communication

(C) Ministry of Home Affairs
(D) Ministry of Housing and Urban Affairs.

9024 /RRR /6 11



ow R e A b Y v R e W v @ e
(A) Yo 3R wERw weer

(B) WWR Wwew

©) TE wWEw

(D) Smw ik wed wwE w Wy

24, “/ﬂéch city is the host of the first-ever G-20 Culture Working Group (CWG) meeting?
“(A) Panaji
(B) Khajuraho
(C) Mysuru
(D) Jaipur.
FH-H1 TR TEER AR W-20 SER AT 9 (CWG) F d5% w1 Faw 7

(A) vorsit

(B), &YUw!
(©) - ¥ ¢
(D) =g

25. When is the ‘National Science Day’ celebrated every year?

(A) February 21

(B) February 24

(C) February 28

(D) March 3.

i ‘osfie famm fraw’ v v ¢

(A) w21 #t

(B) W& 24 HI

(C€), vl 28 =
(D) wr€ 3 ®h

3024 /RRR/6 12



Savitn, who won the Sportsinr AC

27.

28,

ES Sportswomnn of the Year nward, plays which spors?
(A Trootball

() Cricket
(C) Nockey
(D) Tennis,

wir, Rl 2 T vidan. widn qm it < g s, wew o ded 42

(A), R
(@) frme
(C) vi@t

(D) 2Fr

'Hola Mohalla' is a famous festival celebrated in which religion?

(A) Jainism
(B) Sikhism
(C) Hinduism
(D) Islam.

e e’ fre @ v e 2
(A) 7 v
(B). fra vt
() feg wi
(D) T



W T wfeen B Wy frm wen 3 RO TNE TF T SEET OE fa
(A) IRt

(B) #.um.ig.

(C) wwiatang

(D) wH.4t.3E.

29. Palli, India’s first ‘Carbon Neutral Panchayat', is situated in which state/UT?
(A) Goa

(B) Jammu and Kashmir
(C) Sikkim
(D) Puducherry.

maﬁvmﬁ‘mmm'wﬁ.ﬁmmﬁ:mmﬁfwﬂt?
(A) Tian

(B) ¥ 3R wveii

(C) fafemwm

(D) - gg=

30. Which institution released the 'Statistical Tables relating to Banks in India'?
(A) Finance Ministry | |

(B) Reserve Bank of India

(C) NITI Aayog

(D) World Bank.
ﬁmm#‘mﬁiﬁdmmm’mﬁﬁ?

(A) foaa wamerm
(B) WRdtg fiod &%
(©) ifa smam

(D) fava &=

9024/RRR/6 14



31.

qerat w1 YR Y T 2

(A) TS F TN — S e FW awen

@) R P @ A — W T

(C) TR TG AM — YW A FEoN } TR G
(D) I R T R FA — Tl w e FE

32, M afaa-afaq’ TR-TH 1 gEW aY-u9% SH- 27

33.

(A)r THHR — ST
@) T —

(C) THHEA — R/
(D) 3N — &R

qeaTe® S ¥ ffifa fadmor @
(A) SeIdl
(B) =1
(C) T

. (D), ST

34, Qe ¥ FH-91 WO 82

3S.

(A). dcqeH
(®), Tt

(C) =4t 9
(D) &

'R g T T R A @ oy v R
(A), S TIRd
(B) sy
(C) syt
(D) Tt

9024 /RRR /6 15



36. 'wfarﬁ:’anmmamn
A) T % sEr
®), ol % srgar
(© @ T
(D) T sfawg)

37./44mmﬁéﬁa—zﬂmam?ﬁ%?
(A) HSHSAT
B) fafram
(C) s T3
(D) f&=fEmmm

38. 'mwfer’ v ¥ wfy
(A) o
(B). ==
(C) <
(D) s

39. Fefafes § & w-w W= qfe WPy w1 3w w6 8
(A) |3q
(B) ety
(©). TFRw
(D) TR

40%%1’@1?' = ¥ 59g #
(A), 3%

B) ¥
(C) forar

(D) T3

9024/RRR/6 16



» ﬁﬂﬁﬁwtﬁﬁ'ﬁﬂﬁ?—ﬁ%’?

]

47, T I TH T2
4. e fea ol @2

44. W= (Gender) &
(A), gfaT
(B) wHfan
(C) Iuafan
(D) T® | HE 7=

45. Frefafes ¥ Q@ SH-T = ST Tea 22
(A) §aK

(B) ¥ER
(C), ==

(D) faegan

=
9024/RRR /6 1



Py (W . 46 ¥ 50) : Y T M WA F TGH WA H IvC AR

ﬁmwmiﬁmﬁﬂﬁﬁmﬂﬁﬁ#mm.mm
wv #1 Y Tafg 5w o @ e 1 IR R AR - F WA A W T Ry
A T FER 2 T Fawvia woi ' - 9% wEAn fegid dad T @ fag oy
1 afeend f fdweie € sk ? o o st wHE §1 w, T orva 8 R R W
d it ot sty 7% afeeel F o @ T 2, 96 IRY ¥ I I @ R amam
et e wT @ R TR 3 ¥ e kel e S SH $ R e
I T TE ARG F EE H W G ¢, @ qfeensd B Mg 1w i w9 aw
HfeeTd 77 T 3N R T IR w4 BN L wer € fF afeaet # aewe § fn,
m%mqﬁraﬁzmﬁﬁ%mﬁmwaﬁﬁammlmaﬁ
FaE FE W@ 2 SR A F AEeE, 85 F sawt 9 7 9w 31 srwen ShaT e g
T8 TN, Siva FEFY IR G F H FER IR I T W ¢ o far w2, Wy

e &1 TE/ T B 9T fF 999 3R R wfean 3 SR St 1 9 9 4R a9 aed §
3R ST FEEEE w1 WE UE et WY w19 9 W gEd 8

46. W 1 R F IFTIR, gEEEd § wfean fead ww© F e e sl w3 8

(A) @9 &
@B) 9fa &
©C) TR F

(D). I I

9024/RRR/6 18



17.

48.

49,

50,

9024 /RRR/6

e @ fr A ¥ Hfeens w waife st @ o 22

Hfgenall & TdA & fou wdvam fFst s % 9 =i
(A) 3

(B) WERAER F W WId H A Y@@ wI

(€) e HY Then o

). (A) 3R (B) 3|

Afgamd frr 9 | frasl wn 3 IRl 9 30 w1 w9 W oA 82
(A). EIHE

(B) u+
(C) faa=
(D) i T

ufeene w W F § wx wn e, 76 R aEiwa w1 gEs $?
(A) sfaa=t

(B) =m®

(C) §medam
(D), Wgfami

19



Directions (Q. Nos. 51-52) : Fill in the blank with the correct word from the following,

51. He got too tired over work.
(A), because of
(B) because off
(C) on
(D) for.

S2. He crossed the broken bridge __ waming.
(A), in spite of
(B) in spite off
(©) on
(D) about.

53. 4011)@ of Rabid is

(A) Frantic
(B), Sober
(C) Chaos
(D) Vulgar.

54. Aoosc the correctly spelt word.
(A) Obnoxious
(B), Obnaxious
(C) Obnexious
(D) Obnaxeous.

55. Choose the correctly spelt word.
(A) Rediculous
(B) Redeculos
(O) Ridiculous
(D) Redicilos.

9024/RRR/6 20



56 /SYnonY'“ of Blennial 1s

®) Twice in a year

(C) Quickly
(D) .Slow.

57 Select the most appropriate idiom (in the context) to fill in the sentence.

The reporter interviews a to know the public perspective about the new law.
(A) Man of letters

(B) Hatchet man
(C) Man in the street
(D) Family man.

58. Given below are four jumbled sentences. Pick the option that gives their correct order.

P. The human body is built of billions and trillions of cells.

Q. Each cell contains the hereditary material and can make copies of itself by reproducing a
multiplying.

R. Cells of various organs vary according to their function.
S. After a specific life épan. the old cells die off.

(A) RPSQ

(B) SPQR

(C) QSPR

(D), PRQS.

ot

¢ Select the option that is the passive form of the given sentence.
Abhay will arrange the rack.

(A)y The rack will be arranged by Abhay
.(B)s The rack would be arranged by Abhay
(C) The rack can be arranged by Abhay

(D) The rack was arranged by Abhay.

902
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. iven.
60. Select the word which means the same as the group of words g
A dentist who specializes in the treatment of the gums.
(A) Periodontist
(B). Dermatologist
(C) Orthodontist
(D) Ophthalmologist.

61. DIRECTIONS : Select the correct plural forms.
Woman
(A) Womens
(B) Womans
(C). Women
(D) Womanses.

62. DIRECTIONS : Select the proper prefix.
Merit
(A) re
(B) di
(C). de
(D) dis.

63. Choose the correct sentence,
(A) Do you like a glass of water?
(B). Would you like a glass of water?
(C) Would you like the glass of water?
(D) Do you like the glass of water?

8024/RRR/6 22



6d Select the odd onc out.

(A) Radium
(B). Radio

(©) Granile
(D) Dynamite.

i1l in the blank with gerund.
football.

65. F
poys like
(A), playing
(B) 10 playing
(C) 1o played
(D) to be playing.

Directions (Q.Nos. 66-70) : Read carefully and answer the following questions on the basis of

following paragraph :

c of obesity or overweight is affecting many countries around the world;
bese or overweight. Obesity could be for a particular reason. In India, som
r high-calorie diet and lack of physical activity. In the Unite
income groups. Obesity is now well recognized as a disea
eans being overweight, it is defined as an excessi
specifically refers to

An epidemi .
300 million people are 0
people tend 1o be overweight due to thei

States, obesity is more prevalent in low-
in its own right. Although obesity commonly m
amount of body weight that includes muscle, bone, fat, and water. "Obesity"

excessive amount of body fat.

A certain amount of body fat is needed to store energy, keep you warm, and absorb shock. In gene
men with more than 25% body fat and women with more than 35% body fat are considered ob
Obesity tends to run in families, suggesting a genetic cause. Environmental factors include lifes
such as what a person eats and how active a person is. Therefore, one must choose more nutri

foods that are low in fat and become more active.
ors. Negative emotions like boredom, sadness, and anger 2

Then there are the psychological fact
ge amounts of food th

main culprits. Then there's also "binge eating,” that is, when people eat lar
it's out of their control how much they eat. Those with the most severe problem of binge eat

also likely to have more symploms of depression and low self-esteem.

Obesity is a health hazard that leads to many Serious medical conditions, including type 2
heart disease, high blood pressure, and stroke. Obesity is also linked to a higher rate of cent
of cancer, There are many ways 10 lose weight, but exercise is the best as it has no harmful sic

9024/RRR /6 23



66. Women having body fat are regarded as obese.

(A), more than 35%
(B) more than 25%
(C) less than 30%

(D) less than 25%.

67. Obesity can be defined as a/an

(A) less
(B).excess
(C) optimum
(D) balanced.

68. In the United States obesity is more prevalent among

(A) high income
(B) homeless
(C).low income

(D) affluent.

69. Environmental factor refers to

(A) indecent
(B) decent

(C), lifestyle
(D) loud.

70. Binge eating is when people eat
(A). ‘a_meagre amount
(B) a small portion
(C) extra organic type

(D) a large portion.

9024/RRR/6

amount of body weight.

people.

behaviour.

of food.

24



71.

72.

73.

The pumber T is

(A) 2 fraction

B) 2 recurring decimal
() 8 rational number

(D) an irrational number.
qon nt

(A) T I

@) TF Iadi TH
(€), TF THET HEm
(D) TH A wE

sCD, TEF, UGH /27, WKL. Fill in the blank.
(A) CMN

(B8) UII

(C). VIJ

(D) IT.

SCD, TEF, UGH,

, WKL. fm wm st fd sifsw
(A) CMN

(B) Ul

(C) VI

(D) T,

Which word does NOT belong to others?
(A) inch

(B) ounce

(C) centimetre

(D) yard.

9
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TH-T U= 0§ gahg T8 82
(A) 39

(B), 39

(C) IR

(D) T2

74. PASTORAL : RURAL : ?
(A) metropolitan : urban
(B) sleepy : nocturnal
(C) harvest : autumn

(D) agrarian : benevolent.
L ;O ;2

(A), ' wiEd

(B) H1% : fawmsr

C) ¥Hd : Wz =g

(D) FfQ : TOv=TE

75. “ SOUND - CACOPHONY : 2
(A) speech : oration
(B) touch : massage
(C) smell : stench

(D) taste : style.

G : wEw oy . 1
(A) 91997 : e
(B) ¥ : mifay

(Ch Y : a7

(D) &R : et

Y4/RRR/6



Directions (Q.Nos. 76-80) = Study the following table and answer the questions.

Number of Candidates Appearcd and Qualified in a Competitive Examination from Different States

Over the Years.

= Year
Sate | 1997 199% 1999 2000 2001
App. | Qual. | App. | Qual. | App. | Qual. | App. \ Qual. | App. | Qual.
M 5200 | 720 | 8500 | 980 | 7400 %50 | 6xoo | 775 | 9s00 | 1125
N | 7500 | a0 | 9200 | 1050 | 8450 | 920 | 9200 | R0 | ss00 | 1020
p 6400 780 8800 1020 | 7800 890 8750 1010 9750 1250
Q 8100 950 9500 1240 8700 980 9700 1200 8950 995
R 7800 870 7600 940) 9800 | 1350 | 7600 945 7990 885
frer (wyT |, 76-80) : Frafafma wfee &1 stormm &t i v & =T 2
froat Tal ¥ fafi= w1 8w wfaari often § sufem @ o s=imam =1 "5
pr
e 1997 1998 1999 2000 2001
JEgA| A | wEEE | WY | omEeE| 3 |smEes | Aram | EgA | Arg
M | 5200 | 720 | 8500 'bs\o 7400 '3?0 6300 | 775 | 9500 | 1125
N | 7500 | 840 | 9200 | 1050 | 8450 | 920 | 9200 | 980 | 8800 | 1020
P | 6400 | 780 | 8800 | 1020 | 7800 éio 3750 | 1010 | 9750 | 1250
(@ | 100 | 950 | 9500 | 1240 | 8700 Qio 9700 | 1200 | 8950 | 995
R | 7800 | 870 | 7600 | 940 | 9s00 | 1350 | 7600 | vas | 7990 | sss
| 4160 ] 230y 1 [ VT 0| '

76. Total number of candidates qualified from all the states together in 1997 is approximately wh:
percentage of the total number of candidates qualified fr\om all the states together in 19987 .

(A) 72% |
B) 77%
©) 80%
(D) 83%. -



49wﬁwwﬁmﬁmﬁﬁm.l998ﬁﬁ‘ﬁﬂﬁﬁﬁm%
# @@ wen w1 feen yeww #2

(A) 72%
(B) 77%

(Q 80%
(D) 83% .

77. What is the average candidates who appeared from State Q during the given years?
(A) 8700
(B) 8760
(C) 8990
(D) 8920.

fix a6 F W = QR s seiRER m B
(A) 8700
(B) §760
(C). 8990
(D) 8920.

which of the given years the number of candidates appeared from State P has maximum
percentage of qualified candidates?

(A), 1997
(B) 1998
(C) 1999
(D) 2001.

(A) 1997
(B) 1998
(C) 1999
(D) 2001.

)24/RRR/6 o8



79. iﬁ is the percentage of candidates qualified from State N for all the years together, over the
Andidntc.ﬁ appeared from State N during all the years together?

(A) 12.36%
(B) 12.16%
(C) 11.47%

(D) 11.15%.

a NA 30 ad & fou am sofram & vfem, gd@ oad @ e e N sufem
i g IEiEEan W e A R whwm 22

(A) 12.36%
(B)» 12.16%

©) 11.47%

(D) 11.15%.

80. ~The percentage of total number of qualified candidates to the total number of appeared candidates

among all the five states in 1999 is

(A), 11.49%
(B) 11.84%
©) 1221%
(D) 12.57%.
1999 ¥ |l v A ¥ Ivfem InikERl w1 f@ WEm w1 9 InikEn W we 6
w1 v ?

(A) 11.49%
(B) 11.84%
€) 1221%
(D) 12.57%.
9024/RRR /6
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81. Find the next number in the sequence :

104,5,109,4115. }122:3 130, .
(A) 119
(B) 125
(€).139

- (D) 134,
FH ¥ I WO TW S
104, 109, 115, 122, 130, ....
(A) 119
B) 125

(C) 139
(D) 134,

¥4 ¥ el FEn 7@ e
3, 6,09, 30, 117, .......

(A) 192

(B) 352

(C) 388

(D) 588.

3024/RRR/6
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83. A baby crawls 12 fect towards the cast and then 4 feet towards the south. He than crawls 9 feet
towards west. How far is he from his initial position?

(A) 2 feet
(B) 9 feet
(C) 5 feet
(D) 16 feet.

TF T 12 TR [ w3, R4 v ghi w8 sin T f) R aw 9w S @ sk
¥ 1 9% A AME T R e g 2

(A) 2 B
(B) 9 Wi
(CL 5 B
(D) 16 W

84. If Reena says, "Anjali's father Raman is the only son of my father-in-law Ramanand”, then how
is Piyu, who is the sister of Anjali, related to Ramanand?

(A) Wife '
(B) Sister

(C) Grand-daughter
(D) Daughter.

% T wedt ¢, ' oiwfa B o oA R TR TR S e WY, ﬁﬁmﬁm’r‘aa
T ¢, T WS QT a2

(A) Tt
(B) =&
(C)e TNt
(D) &=

9024 /RRR/6 31 ¥



85. The sides of a triangle are in the ratio 3 : 5 : 7 and its perimeter is 30 cm. The leng of \
greatest side of the triangle in cm is

(A) 6
(B) 10

(C) 14

(D) 16.

T frg #t qonel F1 w3 ¢ 5+ 7 ¥ ok @ wfem 30 Fh AW A g w gy
T F AE R

(A) 6

(B) 10
(C). 14

(D) 16.

Directions (Q.Nos. 86-90) : Study the information carefully and answer the questions given below.

A pegéon starts walking from point B in east direction and walks 7 m to reach point V. From point V;.
heAakes a right turn and walks 5 m to reach point X. From point X, he starts walking in 9 m north to -
each at point K. From point K, he takes a left turn and walks 12 m to reach point Z. From point Z,
he starts and walks 8 m in south direction to reach at point P. Now he takes left turn and walks 6 m
to reach point A.

(W¥T €. 86 R 90) : WHSIT & WMYHH 3eaaT &t i o T 7 vt @ 39w 2
TF =fw fag B 9 g Ran F wem qE ww # ok fag v v @ fag 7 Wi Te
Ta‘zvé.az:r(agm%aﬁzﬁgxwvg’aﬂai‘msﬁam?nﬁgx@,wﬁgxm
n@#%ﬁq9ﬁmmﬁmﬂamélﬁgxﬂ,azamgsm?aﬂtﬁzzwrrg‘aﬁ
F g 12 MR worm ¢ fag 2R, 9% iy P wETR @ faw 3w fem A 8 Wi wem 2
39 9% ¢ gea € 3R fag AW e B fou 6 WX wem 2

/

86. If Point G is north of point A and east of point Z, then what is the shortest distance between point G
and Point K?

(A) 5m
(B) 7m
(C) 6m
(D) 4 m.
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afx fiig G, g A® T F ok fiig 2% @ A 2, A fig G ol fag KB g F =A@ 30
fret 87

(A)$5 .
@) 7 ™.
() 6 .

(@) 4 ¥
4 which direction point is A with respect to point B ?

(A) South

(B) North

(C) South-west

(D) South-east.

fag B & dau ¥ fag A frm fgm & &2
(A) e

(B) I

(C)* Zfayur-ufe=m

(D) feor-gqdi

/

88. What is shortest distance between Point K and Point A?
(A) 10m

(B) 9m
(C) 6 m
(D) 11 m.

fig K3k fag A S 9= = g0 feedt #2
(A) 10 =t

(By 9 .

(C) 6 =i

(D) 11 )
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89./ln which direction is point P with respect to point X?
(A) North-west
(B) North-cast
(C) South
(D) North.
fig X & gy d fag pfem fem & 27
(A) SH-vfr="

(B) -
(C) <fym

o

90. If point S is midpoint between point Z and point P then in which direction is point V with respect
to point S?
(A) North-east
(B) South-cast
(C) West
(D) East.
IR g 5. a5 z 3l fog P @ o ma-fag # o fiig s W A Rz v e R § )
(A) TR-F
(B) Zftgor-gd
(C) wfram

(D) gl

1. Special Education Courses are controlled by
(A) Special Education Council of India
(B) Rehabilitation Council of India
(C) National Council of Teacher Education
(D) Medical Council of India.
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92.

93.

i ot amEn PP fem o 4
(A),mﬁﬁmmmm
) W gt 9 gm
(C)mﬁTmﬁﬂtﬂqqﬁ“m
(D) WfEFA FEHA stF $Fem 2m,

The main Government body at the tertiary level of education in India is
(A). NCERT

(B) CBSE
(C) UGC
(D) AICTE,

@ | foan % s @ gem e fem b
(A) TAHELLALA,

(B) H.Awws

(C) 7.

(D) amEad

Which of the following act/plan/scheme/commission of the British envisages the introduction
of universal free and compulsory education for children between the ages of 6 and 14?
(A) Sargent Plan of Education

(B) Wardha Scheme of Basic Education
(C) Indian Universities Act, 1904
(D) Hunter Education Commission, 1882-83.

S B froafafeas ¥ /@ fre sfufrmacvemm 9 6 | 14 o8 1 ag 3 T=8 & fa
s W el afEd e ®1 Eem 1 afwe 1w R2

(a) foem #1 wrte g

(B) Afew fonan =Y =i g

(C) v favafaaera sifufmm, 1904
(D), ¥ fonan amab, 1882-83.
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94. According to NEP 2020 the Indian cducation system produced great scholars such as Charay,
Nagarjuna. Find out the odd one from the list.

(A) Aryabhatta

(B) Varahamihira
(C) Xenocrates

(D) Bhaskaracharya.

NEP 2020 ® S8R WRetg fimn woreht 3 wew, T R wen fpml w1 e fean g
¥ | fraw w1 w0 M)

(A) IwE

(B) Tt

(C), FHTH

(D) WrEUETd|

95. Education is a great leveller and is the best tool for achieving economic and social mobility,
inclusion, and h_pe_x,ams_m
(A) disparity
(B) discrimination
(C) inequality
(D) equality.
finn w& WeH w1 ¢ aw 9% anfdE IR wmfaw wfaviter, ‘mﬁmaﬂt
W@ FA % fe ww aea anA #
(A) fafg=m
(B) ¥z9E

(C) A

(D), I

96. Which of the following is the apex body in the area of Teacher Education in India?
(A) UGC
(B) MHRD
(C) NCTE
(D) NCERT.
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97.

98.

9024/RRR /6

g o FOATE T % "””‘f‘“""ﬂ’fﬁﬂﬁﬂzﬁn-mmmi?
A 7,3,

(p) TR
(©), ﬂ.‘ﬂ.ﬂ-{.
(D) q:;,'{ﬂ.‘{.ﬂﬂ.ﬂ.l

When India did adopt Goal 4 (SDG4) of the 2030 Agenda for Sustainable Development?
(A) In 2020

(B) In 2015
(C) In 2030
(D) In 2025.

w3 wa w2030 vsE B @ 4 (SDGe) F wa s A@n
(A), 2020 H
(B) 2015 H®
(C) 2030 ®
(D) 2025 I

Which of the following agency put forward the concept of proactive university?
(A) UNDP

(B). AICTE
(C) UNESCO
(D) UGC.

Frfafen & @ frm it 3 ofiea frvafraers #t s =t om T
(A) g3

(B) qam#ag.

C) gAwn!

(D) it

37 [



99. District Primary Education Program (DPEP) was started in

(A) 1990
(B), 1994
(C) 1998

(D) 1996.
fqen WE e FEws (RALd) T® fem T @

(A) 1990
@B) 1994 #
() 1998 W
(D) 1996 HI

100. Which article of the Indian Constitution states that there would be an Election Commission to

control, direct elections in India?
(A) Article 344
(B) Anicle 324
(C) Article 333
(D) Anricle 370.
mmémaﬁa‘zﬁ'mméﬁmﬁmmﬁﬁuﬁamﬁmﬁ
gA™ [ B
(A).ﬁﬁ! 344
(B)» STTRT 324
(C) JT=T 333
(D) AT=T 370.

101. Who said ‘Man is a political animal'?
(A) Dante
(B) Aristotle
(C) Socrates
(D) Plato.
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102.

103.

' A U Toriees gl ¢ R @wer?

India is known as a parliamentary democracy because

(A) The President is not a member of the Parliament

(B) The members of Parliament are directly elected by the people
(C) The executive is responsible to the Parliament

(D) The powers has been clearly distributed between the Center and the States.
mﬁmﬂm%mﬁmmt#ﬁ
(A)mﬁmﬁmﬂﬁ%

cB)Wa?wmahﬁmqﬁﬁi
(ommma%mmmwt
(D),qmﬁ#ahttmﬁﬁiﬁammﬁmaﬁﬂifl

The President's rule in the state means that the state is ruled by
(A) The President directly

(B) A caretaker government

(C) The Chief Minister nominated by the President
(D) The Govemor of the state.

= § TR WA & A 3 f5 T iEa #
(A), T TR B

(B) G HHamw® WHR G

(©) Tehr g @ TEA T

(D) T4 & 9@ Gl
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104. The National Flag was adopted by the Constituent Assembly of India on
(A) August 15, 1947
(B) July 22, 1947
(C) January 26, 1950
(D) January 2, 1950. |
TRA HT WEAYR TN T T AW F AR T
(A) 15 3T, 1947 F
(B). 22 M, 1947 H
(C) 26 9754, 1950 Fi
(D) 2 J7ad, 1950 Fh

105. Who is the author of the book Freedom Behind Bars'?
(A) Kiran Bedi
(B) Jawaharlal Nehru
(C) Sheikh Abdullah
(D) Nelson Mandela.
‘wiEn fenE T @ # duw o
(A) e

106. Which of the following Commission first decentralized the primary education?
(A) Hunter Commission

(B) Mudaliar Commission
(©) Kothari Commission

(D) Sadler Commission.
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ﬁﬂfﬂf@“"ﬂmm*mmmmmWM?

107. Election Commission is a
(A) Constitutional Body
(B) Statutory Body
(C) Elective Body
(D) None of the above.

< Imm ¢
(A) waafE e
@), v fEm
€ Awfes e

@) 3w & | g TE

108. Destiny of India is being shaped in her classroom.’ This is stated in
(A) National Policy on Education (1986)
(B) National Knowledge Commission (2005)
(C) Education Commission (1964-66)
(D) University Education Commission (1948-49).

'vrE Y fraft seEt wa d SR @ W@ ' 9w ww o R
(A), fren w g A (1986)

B) T FW Imam (2005) ¥

(C) R s (1964-66) W

(D) fvafaarer frn st (1948-49)
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109. The members of the Rajya Sabha are elected by
(A) The People
(B) Lok Sabha
(C) Elected members of the Legislative Assembly
(D) Elected members of the Legislative Council.

THEW % WX fraitaa o €

(A) @i gr

(B) WiHEW ZW

(©). faurawm & fraitas vzl @
D) faurm wfeg + fraifer 5=t Z@l

110. The first Other Backward Class Commission (OBC) appointed in India is
(A) Mandal Commission
(B) Nettur Commission
(C) Kaka Kalelkar Commission
(D) Mukherjee Commission.
e A s v s frew = amm (sta) @
(A) HEa smm

(B) FTR 3w
(C) . FTHT FHAFT 3G

(D) q&sit amgmi

111. A teacher who is not able to draw the attention of his students should
(A) Evaluate his teaching method and improve it
(B) Resign from the post
(C) Find fault in his pupils
(D) Start dictating.

0024 /RRR/6 42



112.

s o W AN B F oI arwfhn w § wam T 2, =2
(A) ST RN TER T et ot wwd mun wen ey

©) 7 frafdal A et weeht ey
(D) m&ﬂh%mhml

If you get an opportunity to teach a visually challenged student along with normal students,
what type of treatment would you like 1o give him in the class?

(A) Not giving him extra attention because majority may suffer
(B) Take care of him Sympathetically in the classroom
©)

You will think that blindness is his destiny and hence you cannot do anything

(D) Arrange a seat in the front row and try to teach at a pace convenient to him.

ﬂﬁmmmﬁ*m-mwﬁhwﬁmmﬁﬂzﬁmmmtﬁ M I
mﬁﬁmmmmhmﬁ?

,(A)mmmmwﬁiﬁrﬁs?mmﬁmt

113.

(B) F& ¥ Werfr® suwt dmu =¥

Which is nor a characteristic of leaming?
(A) Modification of behaviour is learning
B) Leaming is always positive

(C) Leaming is a continuous process

(D) Leaming is a process of growth and problem solving.

W—mmﬁﬁﬁm#\‘%?
(A) dram =reEr w1 b 2



114. Which of the following research types aims at immediate application?
(A) Action |
(B) Conceptual
(C) Empirical
(D) Fundamental.
frefafas 4 @ $R-w1 Wy woR @ STRM w1 98 T

(A), FrdaTet

-

B) Ff= \

(C) A=
(D) T

115. Which of the following is the most important single factor in underlying the success of beginning
a teacher?

(A) Scholarship

(B) Communication ability

(C) Personality and its ability to relate to the class and to the pupils

(D) Organizational ability. .
mﬁém-mwmﬁﬁmémmemé?
(A) Bragfa

(B) 99N &Har

(A) Motivating

(B) Problem solving
(C) Reasoning

(D) Thinking.
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118.

You want to develop cooperation and team spirit in students. Which activities would you propose?
(A) Art

(B) Debate
(€) Project work

- (D) Quiz.

g Bl A WEAm 3R AW wEm fawfon won aw § o e R o v 32
(A) FEM '

(B) wEH
(C) , IRAAT w1 ™
(D) v

"Education doesn't bring about social change, rather the social change results into an education:
change." Whose view was this?

(A) Auguste Comte
(B) Emile Durkheim
(C) Herbert Spencer
(D) Karl Marx.

A QA T Thed T B, ahe aiE Thed } i sied vt ae B
w ’

(A) o FiR *1

(B) wfim zedin =
€) W@ &w =

(D) w1t wrrd w11
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119. Democratic Teaching means o
(A) Whatever a teacher teaches according to his own will, the pupil will have to accepy

An interactive process involves classroom talk which takes place between teacher and Pup;

®) _
A process which requires memory and understanding levels and works for highly thOUghtfu]

©
activity
(D) None of these.

waite I w1 Soa 8
(A) frs I o1 9 SgER W 18 fram 2, R i S < feR Fe B

B): TF FaREF Ywa § ww w wodia vfve o € 5 foww ok e @ e o
©) = viwa fowd St 3k a9y 9 R 3 savawa o € ok safus faRee TR
*® fog =@ st §

D) ¥ J =X T

120. If a teacher is nor able to answer the question of a pupil, he should
(A) Say that he will answer after consultation
(B) Rebuke the pupil
(C) Say that the question is wrong
(D) Feel shy of his ignorance.
IR o= frw et o @ v w1 oW 3 F wew e ¢ @ o)

(A) FT 9T 5 9% wouet & 7R 59w 3
(B) B H %eFR 3 =fey

(C) =& wIfeY fw ware wog 2

(D) Mammmﬁqwmm,

21. Authoritarian level teaching is
(A) Child-centered
(B) Experience-based
(C) Headmaster-centered
(D) Teacher-centered.
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D) fr -z

122. The most important challcngc before teacher is
(A) To maintain discipline in the classroom
(B) To make students do their homework
(C) To prepare question paper
(D) To make teaching learning process enjoyable
T s & W TR e i a2
(A) FE H TR T @ 0
(B) BE W TTH BHE® FT
(C) YT TR FA #

(D). fergm sform wfiFn #t gag =@ =

123. The teacher's major contribution towards the maximum self-realization of the child is best

affected through

(A) Constant fulfilment of the child's needs
(B) Strict control of classroom activities
(C) Sensitivity to pupil needs, goals and purposes

(D) Strict reinforcement of academic students.

TR B i areEy § fows =1 TE e fEe T R} wE w9 ) wwfhe w
(A) o=t =t wew@l @1 FRw
~(B) =& nfafafiri w1 we Fraaw

(©) ,forenfoidi = srecl, el ol W@ & Wi HaARieR

(D) srFefs ol &1 9@ qEerml
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125.

.Sch.ools
| in future gcncmt

5“.2“::-.:\.'['— T ".. ¥ -y - . P e, ™" - —————
124.

- - su
jon's values of our culwyye

(A) They preserve and instil

(B) They suggest Ways and mean
(C) They suggest solutions to socid
(D) They arc established by the society-

e g e e & e
ﬁwgﬁa’lﬁrﬁmaﬁtwﬁamg-

g of SOCiaI ngrcss

| problcm5

m)émmmtl

When is the best time to evaluate 2 student's performance?

(A) When the instruction has begun
(B) When the instruction has ended
(C) Only at the end of major units of instruction

(D) Throughout the instructional process.
o 2 Ve T e w0 9 o 99 59 B 87
(A) ¥ e & 8 T #

(B;.ﬂaﬁiamﬁwé

(C) 93w fiw %t vy@ R4l & 3 4

D) e viea & <Al

126. Information highway or net is

(A) Computer
(B) Internet
(C) Intranet
(D) Key-board.



127

128.

which of the following is ot 4 1., of teaching |
ng learning?

(p) Differentiation level

(8) Memory level

(C) Reflective level

(D) Understanding level,

Freaffa 3 3 F- R s 1 2 o 4
(A), FRHE &R

@) T =

© e &1

(D) 9

The introduction of career courses in schools and colleges aims at
(A) Developing the ability to make the intelligent choice of jobs
(B) Providing professional knowledge to students

(C) Increasing G.K. in students

(D) All the above.

ﬁﬁ'ﬁﬁ\tﬁaﬁﬁmﬁmmuﬁmw%

(A) Srefe w1 FeaE ¥ TER T F g EEE T
(B) B ! UgiaR FH YH HI

(C) B W Wr= I FgHl

(D), ST Wit



129. Which of th

130.

131.

. ts have Irom group learp;
followi ation studen ng?
¢ following €XPEC

(A) To get appreciation from the group
B) To distribute the work cquall?'

(C) To ignore individual view-point u
(D) To attract isolated student towards the group.

m@mﬁﬁﬁm@ﬂﬁﬂaﬂw-ﬁ e 3
e

A) T § oE T F
@)Wﬂﬁmmgmmﬁém

() e e fig F awE 79 ® R
), ¥ ¥ S - o W A 74D R

Which of the following is also called introspective level of teaching?
(A) Memory level

(B) Understanding level

(C) Reflective level

(D) None of these.

= 3 R T oo =1 srefrdem WR O FE S 2
(A) Fffa WX

(B) Y N

(C) Tl =R

(D) ¥ & F 7

Where is the First Central Institute of Vocational Education located?

(B) Kolkata
(C) Coimbatore
(D) Mumbai !



132 Valuc-cducation stands for
(A) Making a student healthy

(B) Making a student to get a job

© Inculcation of virtues

(D) All-round development of personality.
wea- T+ ad 2

(A) BH = e g

@) Fwd T F few IE T

© FOI I IR FHIA
(D).sqﬁaamqa’hﬂmml

133. The Father of Psychoanalysis is
(A) Erik H. Erikson
(B) Jean Piaget
(C) Jerorne S. Bruner

(D) Sigmund Freud.
iR B S €
(A), e Ta. TRET
®) s foat

(C) R T TR
(D) fads wiEs!
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138, If & swudent is consantly rubbing his eyes and is inanentive during blackboard wory ,
having
(A} Adustment problem
(B) Heanng problem
(C) Visual problem

(D) All the sbove.
ot Y v TR s sie w vew € o ww 9 ® W % KA SwEYE

LR

(A) U W
(B) ¥ & wuem
(©) ¥ T
(D) V0w Bl

136. Which of the following pairs is incomectly matched?
(A) Piaget - Moral Development
(B) Maslow - Hierarchy of Needs
(C) Thomdike - Theory X and Y
(D) Skinner - Programmed Learning,



1 if a student becomes unconseioys t

!ht "'!1“ w
W . Al A hIl -
(A) Rushing to the principal's office o e will o

Canvassing for e
) ' : hel moatientls
(B) Telephoning student’s parents gnq WAItNg for the P impatiently
ating for them
ing first-ai ' |
(C) Giving aid to him and IFyIng to contact INY nearby o
e i nears Y cocior

(D) Making arrangement to send him 1o s home.
ofk Y BT B AT N TN A o e wm e

(A) BifTE B FTE B A st i @ wr 2 B e wen
@) B & T-fam H 2ER wT s T v wo

(Cy 38 WufiF ITAR A i fRl ode) st 3w w W W wen
(D) 3V IFH W AR H AT FA

o firu?

138. ‘3111: purpose of National Education Policy is
(A) Universalisation of primary education
(B) Vocationalisation of education
(C) To review the education

(D) To give equal opportunity of education to all.

T feran sifa w1 Ik #

(A) Wrfie fasn @1 ST
(B) fonan = sqE@rEIHTl

©) fosn & witan w@ 0
(D) wWit T e w1 A ST
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139. Which is nor an activity of Pre-active phase?
(A) Determining goals of objectives

(B) Content selection

©) Instructional method

(D) Starting teaching.

< - s @ o T

(A) T svat 1 fuko

(B) TWH TG

¢ oo fafu

(D) &0 & ST

140. Discussion method can be used when
(A) The topic is very difficult
(B) The topic is easy
(C) The topic is difficult
(D) All the above.
<41 Tgf =1 9@ 94 fRd 91 ¥EA € 5

(A) fawa agg wfeq &
@®) fawa smmA #
() fawa ¥ ¢
(D)* IR |l

141. Education as sub-system of society
(A) brings changes in the society and makes it modern
(B) creates rift between educated and uneducated in the society
(C) dominates the society

(D) accepts dominance of the society.
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:1d with average potential intelr:
A chil . £¢ potential Intelligence byt Al .
(A) A better life Ie environment will achieve

(B) An average life

(©) Nothing in life

D) Everything in life.

shea WA e A TR T = e v
(A), T AEA e

@B) TF Ea S

©) e d 7B @t T

@), ¥ ¥ w3

143, If a high caste teacher adopts a discriminatory attitude toward a low caste students his
behaviour is
(A) Correct according to his religion
(B) Against the national spirit, and need of the hour
(C) Not against the constitutional provisions
(D) Not against the code of teacher's professionalism of UNESCO.

ﬂﬁmmﬁrﬁfmﬁmﬁﬁﬁm%mﬁ%mmﬁmm%ﬂm
e #

(A) S wd @ AR FE

m)mmﬁnmﬁwﬁm

(©) wauifrs wavrl @ faes T

Dy it < e s ST e @ o T

55 [P.T
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m swdcnl who has learmt Dllgua.u. e s givep fiv
et a Hindi Mfdl“ English. As an evaluator, which aspect Woulg Seny,
indi to ENG Yoy U
ry h

s¢ you £
144. Suppos¢ ¥ 4 from H

to be translate
evaluate him?

(A) Application

(B) Knowledge

©) SYthSis

(D) Understanding. _
mmﬁm%ﬁaﬁaﬂﬁzﬂ@%nﬁw,@mq

aamf«mﬁﬁm . .
meﬁmﬁammwfl@ ‘F“'*"""‘Hmﬁa’”m%ﬂmm
@ &1 AW FA?

145. As a principal, how would you behave with below average students?

(A) Same as with other students

(B)# Generously

(C) Won't pay any attention

(D) Won't allow them in the next class.

T WeH 3 ¥ H, A e | 12 % 6 @ Gy $E qaeR wat?
(A) 39 BH % WY S

(B) TwaT |

(€) F¥ o T

(D) 3% amet wen @ Qg argafa T 3



jcro

P
(A; junior classes only
®

{0+2 classes only

reaching 1s useiul to g, dengs

b imary classes only

@ pigher c1asSs AN primary g, both,
a&qmmﬁ?ﬁﬁﬁﬂ’fiﬁfmm%?
n Faa WufHF Fa 3

®) Faa IR FEAH 5

(©) Faa 1042 FeqA

D) <4 Fenel AR wufrs FAA A B

147, Which of the following is also edied lowest level of teaching?
(A) Memory level

(B) Understanding-leyel.~
(C) Reflective level

D) Introspective.

frefafen & @ fF fowm &1 from = & w0 @ 8
(&) Ffd ®R

(B) ¥9F ®R

C) fHaie =R

(D), SeRfRIEOT

ing aids?
148. Black-board can be included in which group/category of teaching aids?

(A) Audio aids

(B) Visual aids

€) Audio-visual aids
(D) None of the above.



149.

150.

ﬁ Q’m’qm | B (i | B LAY R LAY | BN ¢ N4
/A

(C) 3va-F=@ |t
(D) TR & | H T8I

The determinant of teaching skill training 1S
(A) Components

(B) Pupil-teacher

(C) Supervisor

(D) Headmaster.

e v TRTe 1 fuie 2

(A) TH

(B), 3=-Toes
(C) THaE=w
(D) TS|

Suppose the teachers are busy in cracking filthy jokes and you are also there but you are unable
to stop them then you should

(A) Persuade them decently not to waste their time in filthy jokes

(B) Live in isolation or change the group

(C) Instruct them to mind their language while passing leisure time

(D) Be critical and remind them for the nobility of their jobs.
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